Quiz 4 ~ Tn Clogs QCQ)H' Now - Dye FoM Tl li[nfe3

Lesgon g - £ xtvewo DE ﬁwcﬁms of 2 voriaUa

T Second Portial Jevivetae Tes

gin 9xam\|)tc $

T Seeond Porial Devivabive Test

. dnd Dorie. Ve (o Femg of 1 vor)

Tf 240706 =0 gnd PIXO (¢ ot o an inturvel

Coyhad W ny ¢ . 1hen

((\F"(CS70 > 4 his min @ o=

G" () “0 = £ has max @ xC

(D
(3) £'(c) =0 ™eans ek 15 tneonclusiv

Cie.— LSS INTO . )

There (S aa av\(}.\u_%u‘e for mudfivarigde Fems
st 2 dufimisims  and swme pi¢s

® (¢, d) is & critical pint of F(xL \

f fole,d)y=0 AND P.,(r'd ”

N AP
(Seaope orow picctures

loe.al

MAX

G
(0,0 0)




[op 0 s &

Soddle pript

CU pn SoWme ¢ poss SLChioms

CD o dthee s Stctions

fm he d(gr,ﬁmi.mfﬁ n PK%UD \S

/

Dl 5 o ) Py )= (P . 5B

Ind Poretiol Deyivaives [est

et lopd be oo orutical poindt For Flx v Thep
>0 aV( ( > =
£ hag rdatve min @ (ab)

N—

(2 Dlakh) 70 and Fxxlawep =
~ £ has relatve mox @ (ab)

» Do = F hos o <oddle po(Wr@

(@,b) |
(4 D0laby=0 Then Teek s [NConclusive

Cie. Ugeless Tndnl




~

S

v
3
<
—

LPf/‘n \UW)
®) Q (ny) =R + 2y “Hy? +Yy by +Y
J v i N J
Oy, (VL:W) = Axtly +4
Jo J v
Oy (W)= 2x-8y—D
JJ \K J
e Prst Say vty =0 § qyeny = -4 O
\J U~
05 2 =4 - =0 “\ élx""f\x - @
Q@ a9t2e = -4 | axra )=

—ZX*Q{J. = —0 \ 1\/«’7/7’Lj

‘0\16 = -0 \ ?_x = -21

= “le-Y

_ 30 <40 _2Zud D e

£ oo & saddie point @ 17D

From Decwioe 3D




B (OpenSioy )
)P

£l W)= 2 x> +j1 T 2xy = lox - 3u+‘/

’pr (%0\\ ')L -\’2"\ —\

E \ﬁuj)- 24 2% =3

Crit V¢
( Y*+2y-1=0 Kty = b o
24 r‘ix -% =0 A t2y =2 (7
J \ < g
@ dy =3-2%x 0 X+(3720=0
- V-2 +3 —lp =0
£*-2x-3 =0
(F-2)(KHD =D
x=3 %=~
Bock o 23\) =3-2Z%
x=3: Zy=3-2(3) ¥z 2y=3-20\)
J )
LY = '-33 Q-\JA =5
gy (e =%k
Co o (\5,,’/2,) (A, /%)
Z wls ~2 41
“f 12
.{?Qmp: K Hj :U Foil m,Z%
Ty gy = 2 ¥ 73 Loy, mu\ 0.
J ¥ \\03
‘t\l,al L%l\)\\ = 2
\l\\j JJ
7““’\\ (orlﬂ (D> -9 = dy—y

D(5,%h) = 4(3-d =370 Fxx(3¥)=2@= 670
Docad win @ (5,"%2)







